Number System (HKMO Classified Questions by topics)
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When 257 ) is represented in binary scale, there are d ‘0’s . Find the value of d .
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Given that R, x, y, z are integers and R > x >y > z.
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If R, x, y, z satisfy the equation 2R + 2%+ 2V + 27 -3 , find the value of R.
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If 208208 = 8a + 8*b + 83¢ + 8%d + 8e + f, where a, b, c, d, e, and f are integers
and 0 <a, b, c,d, e, f<7,find the value of axbxc + dxexf .
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Let 20112011 = a(20)° + b(20)* + ¢(20)* + d(20)? + e(20) + /', where a, b, ¢, d, e
and fare integers and 0 <a, b, c,d, e, f< 20 .
IfQ0=a+b+c+td+e+f,find the value of Q.
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A number in base 16 is 1140.

The same number in base a is 240, what is the value of a ?
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If the binary representation of a positive integer has the following properties:

(1)
(2)
then the number is said to be a “good number”.

(For example, 2016 is a “good number” as 2016 = 11111100000-.)

Find the sum of all “good numbers”.
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In base-6 system, if 123456 + 136 has remainder 4, determine the value of 4 .
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In base 5 system, if v
determine the value of v .

the number of digits = 11,

the number of 1’s = 6 and the number of 0’s =5,

L 23423452345 cpdc s v ehiE o
is the remainder of 2342345 = 2345 ,
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Supposethat D ,x,y and =z areintegerswith D>x>y>z.If D,x,y
1000x 1 42
and =z satisfy the equation 3° -3 +3' -3 = , determine the
value of D.
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If vs) 1s the remainder of 1231234 ,+5) + 123 (4+5) , determine the value of v.
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